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Which of the following is NOT a

Subset of AL?

(A) Machine Learning

(B) Natural Language Processing

(C) Blockehain Technology

(D) Computer Vision

‘What is the goal of Machine Learning?

(A) To mimic human behavior

(B) To solve complex mathematical
problems

(C) To enable computers to learn

from data and improve their

performance on specific
tasks without being explicitly
programmed

(Dg To develop advanced robotics

systems

What is the Turing Test?

(A) A test to a assess the speed of

computers

(B) A test to evaluate the logical
reasoning of machines

(C)' A test to determine a machine's
ability to exhibit intelligent
behavior indistinguishable from
that of a human

(D) A test to measure memory
capacity in computers

| [3]

4.

@

in
What is Natural Language Processing

(NLP)?

(A) The study of algorithms that
can improve over time

(B) The process of mimicking

human speech by computers

(© The ability of computers to

understand, interpret and
|

generate human language
(D) A branch of mathematics

focused on logical reasoning

What is the main difference between

supervised and unsupervised
learning?
Supervised learning requires

labeled data, while unsupervised
learning does not

(B) Unsupervised learning requireg
labeled data, while superyised
learning does not

(C) - There is no difference between
supervised and Unsuperyiseq

learning

(D) None of the above

https://www.rmpssuonline.com
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6. Which Al technigue involves allowing 9.  Which of the following is an example

a computer to learn from its own of Al applications in the real world?
iences? P .

experie 'r'/; {T ‘|{A) Sending emails

(A) Natural Language Processing — (B) Playing video games

(B) Supervised Learning (C) Autonomous vehicles

C) Reinforcement Learnin

( J (D) Sorting files on a computer

(D) Unsupervised Learnin -
? 10. Which term refers to the ability of

7.  What is an Al algorithm?
machines to perform tasks that

(A) A set of rules for performing ,
typically require human intelligence?

specific tasks
(A) Automation

(B) A technique for data analysis
B) Machine learning
(C) A type of neural network ®)

(D) A sequence of instructions (C) Robotics

designed to solve a problem (D) Artificial intelligence

or perform a task using Al 11. What does the Turing Test assess

techniques @ regarding artificial intelligence?
8, What is the role of data in AI? (M The ability of a machine to
A) Data is not necessary for Al
(A) A4 exhibit human like behavior
@ algorithms
(B) The processing speed of a

(B) Data is used only in supervised
machine compared to humans

learning
C) Th i
(C) Dataisonlyusedinunsupervised (€) e accuracy of machine

learning learning algorithms

(D) Data is used to train AI models (D) The energy efficiency of Al

and improve their perfermance systems
40401412025 [4]
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12. What is the lowest leva| of the 14,

Kncwledge Pyramid?
(A) Wisdom
(B) Understanding
(€) Data
(D) Information
13. What is the Knowledge Pyramid?

(A) A structure used in ancient

civilizations for storing =
knowledge
(Bj) A conceptual model that
@ categorizes knowledge into
different levels, from data to
wisdom i
(C) A representation of knowledge
as a hierarchical model
(D) A tool for data visualization
Al systemn
4040\A\2025 [5]

What does the informati()ﬂ tevel of

the knowledge pyramid represent?

(A) Raw facts and figures

(B} Processed and organized data

(C) Interpretation and insights
derived from data

(D) Application of knowiedge in
decision making

What distinguishes Wisdom from

other levels of the knowledge

pylramid?

(A) Itrepresents the ability to apply
knowledge and experience to
make sound judgments and
decisions

(B) It involves raw data Processing

(C) Itfocuseson data interpretation

(D) It is  synonymous with

information retrieya)

P.T.0.
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16.

17.

What is the primary purpose of the

knowledge pyramid?

(A) To visualize data in Al systerr.t-s

(B) To prioritize information over
knowledge

(C} To illustrate the progression
from raw data to actionable
insights and wisdom

(D) To quantify knowledge in
numerical terms

How does the Knowledge Pyramid

contribute to decision-making in

organizations?

(A) By emphasizing data over
information

(B) By prioritizing wisdom over
understanding

(C) By limiting the role of data in
decision making

(D) By providing a framework for

organizing and leveraging

knowledge at different levels

4040\A\2025

18.

19.

Which from the following tasks

computer can typically perform
better than humans?

(A) Creatlve problem solving

{B) Performing complex mathematical
calculations

(C) Emotional intelligence
(D)

Social interaction

In which area are computers
generally superior to humans?

(A) Empathy

(B) Artistic expression

(C) Memory recall and data storage

(D) Linguistic interpretation

20. In which area do humans generally

outperform computers?
(A} Recognizing and understanding
subtle patterns and contexts
(B) calculation speed

()

Analyzing large datasets

Simultaneously processing

(D)

multiple tasks

https://www.rmpssuonline.com
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21.

22.

23.

What is a characteristic of an Al
problem?

(A)
(By
(C)

Well-defined and straightforward
Complex and ambiguous
Limited to a single solution

approach

(D) Solvable using traditional
algorithms only

What differentiates Al problems from

traditional computational problems?

(A) Predictable outcomes

(B3 uncertainty

Inherent and

variability
(C) Singular solution approaches
(D) Reliance solely on mathematical
algorithms
Wwhat makes Al problems challenging
to solve?

(A) Involvement of multiple

conflicting  objectives  and
constraints

Fixed problem formulations

(B)
(C)
(D)

Limited variability of uncertainty
Dependency on manual humap,

intervention

4040\A\2025

24.

25.

[7]

what is problem representation in
Al?

without

(A} Solving

problems
representing them
(B) Expressing a problem in 2
formalized, structured manner
that can be understood and
manipulated by an Al system
(C) Generating random solutions to
problems
(D) Ignoring problem complexities
during solution development
which of the following is NOT

form of

a common problem

repres.entation in AI?

(A) Informal, unstructured descrip-
tions

(B) Logical representations

(&) semantic networks

(D) State space representations

P.T.0.
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26.

27.

What is the primary benefit of using
formal problem representations in
AlI?

(A} Increased of

complexity
problem-solving

(B) Limited adaptability to changing
problem domains

(C) Facilitation of systematicanalysis
and solution development

(D) Decreased computational effi-
ciency

What is the purpose of problem

reduction techniques in AI?

(A) To increase the complexity of
problem-solving

(B) To break

down complex

problems into simpler, more
manageable subproblems

(C) To ignore problem complexities
during sofution development

(D) To generate random solutions

to problems

40401412025

[8]

28.

29.

30.

What does the reasoning component
of an Al system invalve?

(A) Interpreting sensory inputs
(B) Executing actions based on
inputs

Processing and storing data
(D) Makipg decisions and drawing
conclusions based on available
information

When was the term "Artificial
Intellfgence" first coined?

(A) 1945

(B 1956

(C) 1965

(D) 1975

Who is considered the "father of
artificial intelligence"?

(Ad John McCarthy ,

(B) Alan Turing

(C) Marviﬁ Minsky

(D) None of the above

https://www.rmpssuonline.com
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31. In which of the following areas 34 In which sector js a1 employed for

has - -

_Pe€rsonalize user experiences and
agriculture and yield predicatlﬂn?

FéCOmmendations?

Adri
(AY Agriculture (A Agriculture

(X Healthca re/ (C) Transportation..__

(D) Transportation
(D) Energy

32. Which industry has most benefited

35. Which sector utilizes AI for
from Al technologies such as

predictive maintenance and fault patient diagnosis and treatment

detection? ‘ recommendation, medical imaging

(A) Retail | - analysis and drug discovery?

Entertainment
(B) Entertainm (A) Agriculture

(O3 Finance
(B) Retail

(D) Manufacturing

(C) Finance(
33. Which field utilizes AI for fraud de-

tection, risk assessment, algorith- (D¢ Healthcare

mic trading and customer service 36. Who proposed The Turing Test?

automation? )(Ag Alan Turing

(A) Healthcare
(B) John McCarthy

(B) Education _
) (¥ Marvin Minsky
(G4 Finance .

(D) Agriculture (D) None of the above

4040\A12025 | [9] P.T.O.
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37. Which of the following is NOT a
requirement for a machine to pass
The Turing Test?
(M Ability to understand natural
language
(B) Ability to exhibit consciousness
(C) Capacity for logical reasoning
(D) Appropriately responding to
questions
38. What is The Revised Turing Test?
(A) An extended version of The
Turing Test that includes
additional tasks beyond
conversation

(B) Anupdated versionof The Turing

Test with stricter evaluation
criteria

(C) A modified versions of The
Turing Test that focuses oOn
logical reasoning

(‘[p/ An alternative test proposed by

John McCarthy
4040\A\2025 [10]

39.

40.

How does The Revised Turing Test

address some of the limitations of

The Turing Test?

(A)

(B)

(C)

(D)

By Introducing stricter evaluation
criteria for judges

By increasing the number of
participants inveolved

By limiting the interaction time
between the judge and the

machine
By incorporating additional
tasks that require intelligence

beyoned conversation

What is an Expert System (ES)?

(A)

(B4

(©

(D)

A system desigﬁed to simulate
human emotions |

A system that performs tasks
autonomously without human
intervention

A system that emulates the
decision making ability of a
human expert in a specific
domain

A system used exclusively for

data storage and retrieval

https://www.rmpssuonline.com
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41. Which of the following is NOT a 44, What role does the User Interface

characteristic of Expert Systems? play in an Expert System?
(A Autonomous decision making
(A) Processing and storing dat@

/M Without human guidance
( (B) Performing reasonind and

Knowledge representation

=

(C) Knowledge acquisition inference
(9{ Inference engine ' (O Facilitating communication be-
42. What is the primary function of 2)
¢ tween the user and the system

an Inference Engine in an Expert
(D) Acquiring knowledge from

System?
(A) Acquiring knowledge from experts
experts 45. In an Expert System, what is the

(B) Representing knowledge in a purpose of the Explanation Fécility?

structured format
(A Providing explanations for the
(O» Performing reasoning and

drawing conclusions based on @ system's recommendations or
“available knowledge decisions
(D) Storing vast amounts of data

(B) Performing feasoning and
43, Which component of an' Expert

. inference
System is responsible for acquiring |
knowledge from human experts? (C) Acquiring knowledge  from
(A) Knowledge Base experts

(B) Inference Engine

(D) Organizing and

(C) User Interface Structuring

(Dg Knowledge Acquisition System domain knowledge

40
40\A\2025 [11] PTo.
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46. what is the primary function of 48 Which of the following is NOT a phase

the inference engine in an Expert in the Expert System Life Cycle ?

System? N
Y (A) Knowledge Acquisition
(A) Acquiring knowledge  from

human experts (B) Inference Engine Development

(B) Storing domain-specific knowl- (C) User interface Testing

edge and facts (Dy Knowledge Base Verification

(C) Performing reasoning and

i : and Validation
drawing conclusions based on

available knowledge 49. Inthe Expert System Life Cycle, what

Providing explanations for the
®) | P occurs during the knowledge base
system's decisions
verification and validation phase?
47. What is the primary goal of the

Expert System Life Cycle? (A) The accuracy and consistency

(A) To develop general purpose of knowledge in the system's

software applications
knowledge base are evaluated

(B) To systematically develop,

deploy and maintain expert (B) Userinterface design is finalized

systems (C) The system's inference engine

(C) To automate routine tasks in an .
is developed

organization

. (D) The system is deployed for end
(D) To train machine learning ploy

Models users
4040\A2025 [12]
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50.

51.

(D).

Buring which phase of the Expert

System Life Cycle

are user

F€quirements analyzed?
(A) Inference Engine Develogpment
(B) Deployment

(C) Problem formulation

nowledge Base verification
and validation
What is the primary function of a
Knowledgé Based Expert System
(KBES)?

(A) To process and analyze large
datasets
(B) To capture, represent and apply

domain-specific knowledge

To automate routine tasks in an

(©)

~

/ organization

(D) T perform complex
mathematica!l calculations
4040\A\2025

52,

53.

[13]

Which type of expert gystem relies
on a database of rules and facts to
make decisions?

(A) RLIIé Based Expert System

(B) Neural Network Expert System

(C) Fuzzy Logic Expert System

(D) All of the above

What distinguishes a knowledge

based system from other types of

expert systems?

(A) Its ability to learn from
experience
(B) Its ' reliance on statistical

analysis
(C) Its focus on capturing and

applying domain  specific

knowledge

(D)

Its use of neural networks for

decision making

P.T.O.
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4. In a Rule Based Expert System, how ~ 57. In the Knowledge Acquisition phase,

are decisions made?

' what techniques are com monly used
(A) By applying statistica] analysis

to historical data to gather knowledge?

(B) By using neural networks for

pattern recognition (A) Surveys and guestionnaires

(C) By applying a set of rules to the

(B) Observations and interviews
available data

(D) None of the above (C) Both (A) and (B)

55. What is a primary advantage of

Expert Systems? (D) None of the above

(A}. They can capture and leverage 58. What is the primary; focus of the

expert knowledge for decision

making : Testing phase in Expert System

(B) They are highly adaptable to
Development?
changing environments

(C) They require extensive training ' (A) Testing ' the system's user
data '
(D) None of the above interface

56. How do .Expert Systems contribute _
(B) Evaluating the system's
_to decision making in business?
(A) By providing emotional support performance
to executives |
(B) By replacing the need for human (C) Verifying the working of
decision makers
' ledge Bas
(C) By offering insights and Knowledg ©

based on e
recommendations (D) Verifying that the system makes

expert knowledge

(D) All of the above correct decisions
' 4040\A\2025 [14]
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59. In Expert System development, what ~ 61. What Is the primary objective ©f

OCCurs in the deployment phage? phas€ in

the conceptualization

(A) The system is made ;
av e
ailabl developing an Expert System?

for use by end users | -
(A) Writing code for the infere

(B) The system is integrated into
, engine
the gperational environment

(B) Gathering knowledge from
(C) The system is tested with a

. domain experts
small group of users

(D) Both (B) and (C) (C) Defining the scope; goals and
60. Which of the following activities. is objectives of the expert system
NOT typically associated with the (D) Designing the user interface

identification phase during Expert 62. During the conceptualization phase

stermn development?
Sy P in Expert System development, what

(A) pDevelopment of rules and facts
is the emphasis on?
(B) Writing code for the inference |
- (A) Understanding the problem
engi

domain and its requi
(C) Gathering knowledge  from quirements

domain experts (B) Developing the kn°W|Edge base

(D) Analyzing potential problem (C) Implementing algorithms
areas (D) Testingthesystem's perr,.,
ance
4040\A\2025 [15] | .
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63. what is the Primary output of the

64.

b3.

conceptualization phase in Expert

system development?

(M Detailed system architecture

(B) Implementation plan

(C) A conceptual design document
outlining

system goals,

requirements and scope

(D) Finalized knowledge base

What is the primary purpose of using

an Expert System?

(A) Generating random solutions

(B§ Automating rputine tasks

(C) Genefating complex algorithms

(D) Assisting in decision-making
and problem solving

Which of the following-is not a type

of uninformed search allgorithm?

(A) Breadth-first search

(B) Depth first search

(C) A* search

(D) Iterative deepening search

4040\A\2025

66.

67.

68.

[16]

In the context of search algorithms,
what does "heuristic" refer to?
(A) An algorithm that guarantees
finding the optimal solution
(B) A function that estimates the
cost of reaching the goal from a
given state
(C) A search strategy that always
| explores the deepest nodes first
(D) A search strategy that expands
the shallowest nodes first

Which search algorithm guarantees

finding the shallowest solution in a

~ search tree?

(A) Breadth first search

(B) Depth first search

(C) Uniform cost search

(D) A* search

Which of the following is an informed
search algorithm?

(A) Breadth first search

(B) Depth first se'arch

(C) Greedy best first search

(D) Depth limited search

https://www.rmpssuonline.com
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69.

70.

71,

Which search algorithm COmbines
the benefit of depth-first search and
breadth-fst search while avoiding
tReir limitations?

(A) Uniform cost search

(B) A* search

(C) Bidirectional search

(D) Iterative deepening search
Which search algorithm is more
memory eﬁcient among the
following?

(A) Depth-first search

(B) Breadth-first -search

(C) A* search

(D) Uniforrﬁ cost search

Which of the following search
algorithms s suitable for finding the
shortest path in a weighted graph?
(A) Depth-first search

(B) yniform-cost search

(C) preadth-first search

' (D) All of the above

40401A\2025

72.

73.

74,

[17)

uld be
Which search algorithm "¢
chosen when the search P2

infinite and the goal state might not
be reachable?

(A) Iterative deepening search

(B) Depth-first search

(G A* search

(D) Uniform-cost search

Which search algorithm is suitable
for finding the shallowest sclution in
a se;arch tree?

(A) Depth-First Search (DFS)

fB] Bre;dth-First Search (BFS)

(C) Uniform-Cost Search

(D) A* Search

Which of the following data structures
is typically used for rmp"ementing
Breadth-First Search? |

(A) Stack

(B) Queue

(C) Priority Queue

{D) Linked List

PT.0,
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75. whatistheprimary goa) of Constraint

76.

4040\A\2025

Satisfaction Problemg (CSPs)?

(A) To maximize the objective
Funcfion

(B) To minimize the number of
constraints

(C) To find a sblution that satisfies
all constraints | |

(D) To explore all possible search
paths

What is the primary objective of

Mean-End Analysis (MEA) in problem

solving?

(A) To

generate all  possible

solutions exhaustively

(B) To identify the mean (midpoint)‘

of the search space

(C) To analyze the difference

between the start and goal

States

difference

(D) To reduce the

between the current state and

the goal state

77.

78.

79.

[18)

Which data structures is typically
used to implement Best-First Search?
(A) Stack |

(B) Queue

(C) Priority Queue

(D) Hash Table

What is Natural Language Processing
(NLP) primarily concerned with?

(A) Analyzing computer programming

languages
(Bé Understanéagng and processing

human languages by computers
(C) Generating artificial languages
for specific purposes

(D) Translating between different
programming.languages
Which of the following is NOT
a subfield of Natural Language
Processing (NLP)?

(A) Machine Learning

(Eﬁ Computational Linguistics

(C) Information Retrieval

(Dy Robotics

“" https://www.rmpssuonline.com
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BU. What is the main goal of Natural

81.

Language processing?
(A) To translate text from one

human languageé to anather

-

(B To enable computers to

understand,

interpret  and

generate human language

(C) To analyze the syntax and
structure of computer
programming languages

(D) To develop advanced speech
recognition systems

Which of. the following tasks falls

under the category of Natural

Language Generation (NLG)?

(Ad speech recogni;ion

(B) sentiment analysis

(c) Text summarization

(D) Part of search tagging

4040\A\2025

82.

83.

[19]

What is the main difference between

speech recognition and Natural

Language Processing?

(A) Speech recognition focuses on
written text, while NLP focuses

on spoken language

(B) NLP is exclusively concerned
with syntactic analysis of
language

(C) Speech recognition is a subfield
of NLP
(Dd§ NLP involves understanding and

S
’@rocessing human language,

while speech recognition

involves converting spoken

language to text
Which linguistic level is primarily
concerned with the Mmeaning of
words and phrases?‘
(M Semantics
(B) Syntax
(C) Phonology
(D) None of the above

P.T.0.
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‘“-_,____.-"

84. whichtechnology enables computers

bl

to process and understand human
language?

(A) Blockchain

(B) Quantum computing

(@ Natural Language Processing

(G2

(D) Virtual reality

85. What is the primary need for Natural
Language Understanding (NLU) in
Artificial Intelligence? Lk
(A) To develop better programming

languages
(B8 To enable computers to
| communicate effectively with
humans @
(C) To improveh J hardware
performance
(D) To create more efficient
databases
4040\A\2025

[20]

86.

87.

Which linguistic level is primarily
concerned with the structure and
rules of a language?

(A) Syntax

(B} Phonology

(C) Semantics

(D) None of the above

What is the primary goal of Speech
Recognition technology?

(M To convert spoken language

aint-:> written text

(B) To translate text from one
language to another

(C) To recognize different accents
and dialects

(D) To generate human like speech

https://www.rmpssuonline.com
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88.

one  of the primary  90.
advantaées of speech recognition
techno!ogy?
(A) Siower Processing compared to
typing
(B) Inmability to handle multiple
language
{C) Hands free operation
(-D) None of the above
89. What is the purpose of an actuator
in a robot?
(A) To detect changes in the 91.
enviranment
(B) To process sensory infcrmation
(C) To physically move or
manipulate objects
(Qy To control the overall behavior
of the robot
4040112025 [21)

[ S

e —T Ty

What g

of AL in
What is the primary purpos€

communication?

(A Enhancing human computer

av

interaction
(B) Increasing data security
(C) Improvin g physical
infrastructure
(D) Streamlining administrative
tasks

Which of the following is an example of

Al-driven communicatign technology?

https://www.rmpssuonline.com
(A) Email

(B) Telepathy N

(C) Semaphore

(D) Chatbots

PTo0.
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92. Howdoes Al Impa ¢t customer service

93.

94,

communication?

(Ad by reducing customer
engagement
(B) By automating responses and

irnproving efﬁciency
(C) By increasing human error
(D) By

channels

limiting COmmunication

Which Al Powered  application

facilitates Voice search in

smar'tphone:s?

(A) Siri @

(B) Google Maps

- (C) Whatsapp

(D) Instagram

primary goal of

What is the

semantic interpretation in Artificial

Intelligence?
(A) Identifying spelling mistakes in
text

the grammatical

(B) Parsing

structure of sentences

85.

96.

(C3 Understanding the meaning of |

&2

text

language

from one

(D) Translating

language to another

40401A12025

[22)

What is the role of semantic

interpretation in Natural Language

P'r.Dcessing (NLP)?

(A) Identifying punctuation marks

(B9 Understanding the meaning of
sentences_@

(C) Extracting phonetic features

(D) Removing syntactic patterns

What is ambiguity in the context of

Natural Language Processing (NLP)?

(A} Precision in language under-
standing

(B) Lack of clarity or multiple

interpretations in language

(C) Consistency sentence

in
structure

(D) Limited vocabyjary usage
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97. I
N Natural goal of

Lan
duage Processing 99. What is the primary

N . .
(NLP), what is disambiguation? information extraction in Artificial

(A) Introducing mare ambiguity in Intelligence?
language (A) Removingirrelevant information
(B) Limiting vocabulary usage from documents

i ifyi i of
(C) Ignoring language semantics (B) Identifying the sentiment

text
(D) The process of resolving

. (G Automatically extracting
ambiguity in language

structured information from

98. What is the primary goal of @

unstructured data

information retrieval in Artificial '

(D) Limiting the availability of

Intelligence?
- search results

(A) Identifying grammatical error
100. What is the primary goal of machine

in text L o
translation in Artificial intelligence?

(B) Extracting semantic meaning (A) Converting images to text

from documénts (B) Generating speech from text
(G Retrieving relevantdlnformation@ (C) Summari_zing long texts into
from a large collection of data _ shorter versions
(D) Limiting the avallability of (Dy Automatically translati-ng text

search results from one language ¢, aNother

4040\A12025 [23] _ PTO.
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